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1. How do we make an �������� ����, muḍāf of   ���
����� !�� "#$% ? 
 

2. How do we make a  &���$�� '()*�+�� �,� �-, muḍāf of   ���
����� !�� "#$% ? 
 

3. What is the Arabic for: 

 
a) He is my judge. 

 
b) These are my teachers (masc. plural). 

 

4. What are the ṣarf changes of a) and b)? 
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'My Qāḍi' (my judge) is: 

 

�.�/$012  
 
qāḍiyya 

 

'He is my judge' is: 

 
 

�3���. 12�/$.  
 
 

 

Here are the ṣarf changes: 
 

'5$�. : �/$�. 0�2  )8$���� ���3�9( +  "#$�%��
����� !��   
 
 
 
 
 

=  �20�/$�.     +�=.  
 
 
 
 

   =0��0�/$�.�2  
 
 
 
 
 
 
 
 
 
 
 
 

  =0��0�/$�.�2  
 
 
 
 
 
 
 
 
 
 
 

 =0�/$�.12.  

 
 

Faḍīlat al-Shaykh Dr. V. Abdur Rahim )"�� >���(  replies: 
 

 

DrVaniya.com 

�?�����*$1@�� "#$����!�� 

 ?�� �AB
�C1�
�� �#$��� �D��1@�� �#$����!��  �?�����*$  

E$�F�G�H�  
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�.�/$12  does not change.  
 

We say: 
 
 
 
 
 

12�/$�. I#$�-.  
 
 
 
 

�J�K�%�. �L12�/$.  
 
 
 
 
 

12�/$���� �L!
�..  
 
 
 

�3���. �?�� 12�/$.  
 
 
 
 
 

�M��/$�. �?�� �E�N!.�K 12�/$�..  
 

 

 
 
 
 

My judge is older than your judge. 
 

 

 

 

 

 

 

 

 

Note the following: 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

�J�K�%�/$�. �L0�2 + �=   =  0�/$.0���2   =   120�/$�..  
 
 
 
 
 
 
 

�3���/$�. �?�� 0�2 + �=   =  0�/$�.0���2  =  120�/$�..  
 

 
'My teachers' is:  

 

��OJ�N��012.  
 
 
 
 

mudarrisiyya 
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'These are my teachers' is: 

 
 �#�P�Q�3 ��OJ�N��012.  

 

 

 

 

 
Here are the ṣarf changes: 
 

�R���OJ�N��:   �0��OJ�N��  )8$���� ���3�9( +  "#$�%��
����� !��   
 
 
 
 
 

=�0��OJ�N��      + �=.  
 
 
 
 

   =0��OJ�N�����=   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  =0�OJ�N���20�   
 
 
 
 
 
 
 
 
 
 
 

 =0��OJ�N��12   
 

 
 

��OJ�N��012   does not change. 

 

We say: 
 

120��OJ�N�� I#$�-.  
 
 
 
 

�J�K�% �L120��OJ�N��.  
 
 
 
 
 

120��OJ�N� �� �L!
�..  
 
 
 
 

Under the influence of the yā, 

the wāw changes to yā, so there 
are two yā's. 
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�S�+�3 �?�� 120��OJ�N��.  
 
 
 
 
 
 

�M���OJ�N�� �?�� �E�N!.�K 120��OJ�N��.  
 

 

 
 
 

My teachers are older than your teachers. 
 

 

 

 

 

 

 

 

 

 

 
 

'I saw my teachers': 
 
 
 
 
 
 
 
 
 

 

�J�K�%�L �20��OJ�N�� )�3�9 T��U����8$���� ��(  +�=   = 0��0��OJ�N���2  
 
 
 
 

    =0��OJ�N��0���2       
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
 
 
 

 
ÝøŠÖ]æ, 

abdur rahim 

=��OJ�N�� �L%KJ12  


